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% ZT. DictPass M TcState 12, 2D &S Num a => a IZR>TWAEKY T IIIITH>7256, T
NZEFLFET DV ANEEN :

-data TcState = TcState { tcCe :: ClassEnv

- , tcPss  :: [(Pred, Id)]

- , tcSubst :: Subst

- , tcNum :: Int

+data TcState = TcState { tcCe :: ClassEnv

+ , tcPss i1 [(Pred, Id)]
+ , tcSubst :: Subst

+ , tcNum :: Int

+ tcIntegerTVars :: [Typel

D EZ, DictPass.getTy (2T, BHY 7 I IVIHS>ZBRIZ, ZOBEMUAZY A MIGEHRKL THL,



+getTy e@(Lit (LitInt _ qt@(_ :=> v))) = do
+ st <- get
+ let tvars = tcIntegerTVars st

+ st’ = st{tcIntegerTVars = (v:tvars)}

+

put st’

+ return qt

1. Integer MOFEHEZ AL T DL DITU 7,

findApplyDict e (qv :=> t’) (_ :=> t) = do
unify’ t’ t
s <- getSubst
+ itvars <- tcIntegerTVars <$> get
+ let itvars’ = fmap (apply s) itvars
let mkdicts [] ds = return ds
mkdicts (IsIn n2 (TVar x) : gs) ds =
case apply s (TVar x) of

(TCon (Tycon nl _)) -> mkdicts gs (Var (DictVar nl n2)

- y -> do v <- lookupDictArg (n2, x)

- case v of

- Nothing -> error ("Error: dictionary not found:

12, findApplyDict (2B WT, ZDOVY A MIFEHEINTVWBHEREF (LI Nd &5 BREBIZONT

: ds)

- ++ n ++ ", " ++ show (x,n2,y))

- Just v’ -> mkdicts gs (Var v’ : ds)

+ y | y ‘elem® itvars’
+ -> mkdicts gqs (Var (DictVar "Prelude.Integer" n2) : ds)
+ | otherwise
+ -> do v <- lookupDictArg (n2, x)
+ case v of
+ Nothing -> error ("Error: dictionary not found: "
+ ++ n ++ ", " ++ show (x,n2,y,itvars))
+ Just v’ -> mkdicts gqs (Var v’ : ds)
mkdicts = error "mkdicts: must not occur"

dicts <- mkdicts qv []

return (foldl App e dicts)
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Z DS S AR BIHY g2 hs:

$ cat testcases/g2.hs

gx=x+1

main = putStrLn $ show $ g a

ZND core IFIRDEHIZHE>T WS

---- ddumpCore ----
(Main.main :: (Prelude.I0 ())) =
((Prim.putStrLln :: ([Prelude.Char] -> (Prelude.I0 ()))) $
(((Prelude.show :: ([Prelude.Show t4] :=> (t4 -> [Prelude.Char])))
${Prelude.Int Prelude.Show}) $
(((Main.g :: ([Prelude.Num t5] :=> (t5 -> t5)))
${Prelude.Int Prelude.Num})
(Main.a :: Prelude.Int))))

(Main.g :: ([Prelude.Num t9] :=> (t9 -> t9))) =
\(Main.g.DARGO :: ""c3°°84) ->
\(_Main.g.U1l :: ([Prelude.Num t6] :=> t6)) ->
((((Prelude.+ :: ([Prelude.Num t7] :=> (t7 -> (t7 -> t7))))
${Prelude.Integer Prelude.Num})
(_Main.g.U1l :: ([Prelude.Num t6] :=> t6)))
(1 :: ([Prelude.Num t8] :=> t8)))

(Main.a :: Prelude.Int) =
(9 :: ([Prelude.Num t9] :=> t9))
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W, BURTIX Main.g (28WT, x+ 1D 112> 7% defaulting 2L TUE W, Do & oA HEET
137 < Integer DFEEZ (+) IZHZLTLEL2TWVS, INTEHNTWE LD IZHRDDIK, BAEDT v
A LMZBEWTIEL, Int & Integer BEEMIZE L THDHE,

defaulting OFAIREH S5 H (Num a => a % Integer 1293) ZDIFVWELUTEH, BUROHH I TWH
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AR T, lookupDictArg & ) 5EIZ (RAH %> T) defaulting # L TW2DRWIFRNVESIZEDbLN S

(src/DictPass.hs 1.242-) :

simpleTy2dict n2 (TVar y)
| (TVar y) ‘elem‘ itvars’ = return (Var (DictVar "Prelude.Integer" n2))

| otherwise =
do v <- lookupDictArg (n2, y)
case v of
Nothing -> error ("Error: dictionary not found: "
++ n ++ ", " ++ show (n2,y,itvars))

Just v’ -> return (Var v’)

Iz, UTFTOEDITLE

simpleTy2dict n2 (TVar y) =
do v <- lookupDictArg (n2, y)
case v of
Just v’ -> return (Var v’)

Nothing | (TVar y) ‘elem‘ itvars’ ->
return (Var (DictVar "Prelude.Integer" n2))

| otherwise ->
n

error ("Error: dictionary not found:

++n ++ ", " ++ show (n2,y,itvars))
ZOEET, ARt g2hs DT —AFELL Ao/

(Main.main :: (Prelude.I0 ())) =

((Prim.putStrLn :: ([Prelude.Char] -> (Prelude.I0 ()))) $



(((Prelude.show :: ([Prelude.Show t4] :=> (t4 -> [Prelude.Char])))
${Prelude.Int Prelude.Showl}) $
(((Main.g :: ([Prelude.Num t5] :=> (t5 -> t5)))
${Prelude.Int Prelude.Num})
(Main.a :: Prelude.Int))))

(Main.g :: ([Prelude.Num t9] :=> (t9 -> t9))) =
\(Main.g.DARGO :: ~~c3°"84) —->
\(_Main.g.U1l :: ([Prelude.Num t6] :=> t6)) ->
((((Prelude.+ :: ([Prelude.Num t7] :=> (£7 -> (t7 -> t7))))
(Main.g.DARGO :: ~"c37"85))
(_Main.g.U1l :: ([Prelude.Num t6] :=> t6)))
(1 :: ([Prelude.Num t8] :=> t8)))

(Main.a :: Prelude.Int) =
(9 :: ([Prelude.Num t9] :=> t9))
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2020-05-04 (Mon)

DT IIICHEL TS Num [t] => t (IZUHIEL TWRWZ & T strlen.hs 2382782572 054 DT,
BROFEEZFEAL DD, ZHUIHIGL 2,

BURTIE, TcState (2 telntegerTVars &5 [Typel BLD 7 ¢ = %S, Num [t] >t THD & Z
5 DREY) T IV ORZR % TG L TV,

getTy e@(Lit (LitInt _ qt@(_ :=> v))) = do
st <- get
let tvars = tcIntegerTVars st
st’ = st{tcIntegerTVars = (v:tvars)}
put st’

return qt

BEEZHEITOICERBLUAZL I, ZhESRUT, £ UED2PNIE (Po21F) defaulting T Integer Z &
LTW3,

simpleTy2dict n2 (TVar y) =
do v <- lookupDictArg (n2, y)



